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s | 2K 7 A
f5) T —TH 813 1,703 841 862
J5) T —TH 538 1,271 628 643
J5) T =TH 754 1,606 834 772
xk  /NEF % % 2,105 4,580 2,303 2,277
aPm —TH 1,233 2,508 1,215 1,293
F=aalii| —TH 1,162 2,229 1,061 1,168
AEm ZTH 1,313 2,671 1,330 1,341
F=aalii| Lt E| 814 1,941 970 971
%k /pNE % %k 4,522 9,349 4,576 4,773
Feyars —TH 988 1,969 937 1,032
Feyars —TH 867 1,725 825 900
Feyars =TH 1,643 2,907 1,369 1,538
Feyars T A 1,078 1,767 861 906
%k /NE % %k 4,576 8,368 3,992 4,376
HEF)I] —TH 976 1,955 962 993
HEF)1] —TH 666 1,590 809 781
HEF) 1] =TH 1,143 2,526 1,236 1,290
HEF)1] T HE 920 1,978 993 985
%k /hE %k %k 3,705 8,049 4,000 4,049
[EEsIl —TH 881 1,857 907 950
[EEsIl ~TH 732 1,621 757 864
PEE I =TH 359 820 376 444
PEER)I| T HE 1,395 2,917 1,462 1,455
%k /hE % %k 3,367 7,215 3,502 3,713
* k 2EAE * % 42,157 82,481 40,005 42,476

. A0
T | Bk 7 Z
FORAHT  —TH 2,967 6,188 2,880 3,308
FIRARRT  —TH 730 1,509 724 785
FIRARRT  =TH 1,167 2,569 1,256 1,313
FOIRAHT YT H 2,139 3,663 1,605 2,058
%k PE Ok ok 7,003 13,929 6,465 7,464
WD IR —TH 1,130 2,040 1,003 1,037
WD IR —TH 975 1,976 977 999
WD IR =TH 1,447 2,841 1,385 1,456
HFn R I HE 682 1,458 711 747
HHFNIR T H 1,840 3,677 1,873 1,804
* %k pE k% 6,074 11,992 5,949 6,043
[ERSIEN —TH 792 1,161 584 577
[ERSIEN —TH 510 976 439 537
* k%  /pE k% 1,302 2,137 1,023 1,114
JEFIR —TH 734 1,187 559 628
JLFNIR —TH 764 1,533 745 788
JLFNIR =TH 549 861 444 417
* sk /PNEF ko 2,047 3,581 1,748 1,833
FOFNIR —TH 1,994 3,112 1,410 1,702
FOFNIR —TH 742 1,206 578 628
FOFNIR =TH 948 1,696 806 890
FOFnIR T HE 400 609 297 312
k% /pE k% 4,084 6,623 3,091 3,532
Ll —TH 579 1,103 578 525
Ll ~TH 762 1,597 822 775
Ll =TH 1,421 2,716 1,348 1,368
Ll T H 610 1,242 608 634
%k pE k% 3,372 6,658 3,356 3,302




